Saint Patrick's Primary School

P6. Maths Newsletter 4
2021/2022
 Last half term pupils in primary six covered the areas of maths outlined below. Maths for all classes is divided into five main areas.

Number, Measures, Shape & Space and Data Handling:

 Each child will progress at their own pace and some may require more time to assimilate new concepts. We hope that this newsletter will give parents some guidance regarding the type of maths the average child is learning in school and will make it easier for parents to help their child at home if they wish to do so.

	Area of maths
	Topics to be covered
	How parents might help.

	NUMBER
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	Know all square, cube, triangular and prime

Numbers.
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Recognise multiples, factors and products.

Identify triangular numbers
Examine patterns and sequences to predict missing terms.

                         Function machines with two operations
Identify tenths and hundredths written in decimal notation.
Read, write and order decimals.

Convert simple fractions to decimals
[image: image5.wmf]
Understand percentages and find percentages of whole numbers
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Increase and decrease whole numbers by a given percentage.


	 LEARN:

Square numbers =

12 =1x1=1

22=2x2=4

32 =3x3=9

42 =4x4=16

52 =5x5=25

62 =6x6=36

72 =7x7=49

82 =8x8=64

92 =9x9=81

102 =10x10=100

112 = 11x11=121

122 =12x12=144

Cube numbers = 

13 =1x1x1=1

23 =2x2x2=8

33 =3x3x3=27

43 =4x4x4=64

53 =5x5x5=125

63 =6x6x6=216

73 =7x7x7=343

83 =8x8x8-512

93 =9x9x9=729

103 =10x10x10=1000

Prime numbers = numbers which can only be divided by 1 and themselves without a remainder.

2,3,5,7,11,13,17,19,23,29,31,37,41,43,47

53,59,61,67,71,73,79,83,89,97.

A multiple of a number is any number that can be evenly divided by the number. For example, multiples of 2 are the answers to the 2 times tables.

A factor is a number that will divide evenly into another number.

E.g. factors of 8 are 1,8, and 2,4. 

These are easiest to find in pairs.

A product is the answer to a multiplication sum.

E.g. the product of 4 and 3 is 12.

Triangular numbers:

1,+2 3,+3 6,+410,+5 15,+6 2 ,+728 +8,36 ,+945,+10 55,+11 66,+12 78,+13 91,  Triangular numbers increase by the same amount + 1 more each time. 

When the children meet questions of the type:

1,3,5,7 -, -

They must first look to see if the numbers are getting larger or smaller.

If the numbers are increasing in size then the mathematical operation is either multiplying or adding.

If the numbers are getting smaller then the operation is dividing or subtraction.

In the example above the numbers are getting bigger by 2 each time so to find the missing number add on 2 more.

Answer = 1,3,5,7, 9,11.

Try the following examples:

0,1,3,6,10, -, -

20, 16, 12, -, -

1/3, 2/3, 1, -, -

A function machine is simply a box with two operations inside. Numbers go in and have the two operations performed on them and come out changed.

   X 2                + 3

In                                                   Out

3                                                    9

When working backwards to find the ‘in’ number from the ‘out’ number then do the opposite

    -2                   -3

      In                                                Out.

     6                                                   15

Know that 1/10 = 0.1

 ''          ''  2/10 = 0.2 etc.

 ''         ''   1/100=0.01

 ''         ''   2/100 = 0.02 

For example write twenty-three and four tenths in figures.

 = 23.4 

Learn:

1/100 = 0.01

1/10=0.1

1/4=0.25

1/2= 0.50

3/4= 0.75

1/3 = 0.33

2/3 = 0.66

1/5 =0.20

Learn that 'percent' means out of 100.

Know that:

Percentage

Fraction

Decimal

100%

1 whole

1.0

25%

1/4

0.25

50%

1/2

0.50

75%

3/4

0.75

10%

1/10

0.10

20%

1/5

0.20

1%

1/100

0.01

Children find these types of questions difficult so they need to do plenty of extra practice. Give children examples of questions of the following type:

Increase £20 by 10%

Remind children that there are two steps to answering this type of question.

Step 1:

Find 10% (1/10) of £20

            =£2

Step 2: Increase means add, so add £2 to £20:

         £20  + £2 = £22

For percentage decrease questions repeat the steps as above but this time take away in step 2 instead of add.        


	DATA HANDLING
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	Interpret a variety of different types of graphs and charts.


	Line graphs

Line graphs can be used to show how something changes over time. Line graphs are good for plotting data that has peaks (ups) and valleys (downs),
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Bar Graphs:

Data is shown horizontally or vertically. It is easy to read and make comparisons

.
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Pictograms:
A picture graph uses pictures or symbols to show data. One picture often stands for more than one vote so a key is necessary to understand the symbols. 
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Pie charts:

A pie chart is shaped like a circle. It is divided into fractions that look like pieces of pie, so is called a pie graph.

Method of travel to school.

[image: image11.png]



Questions will be of the type:

1. Which was the most/least popular way to travel to school?

2. What fraction of children travelled by car?

Venn Diagram
This is a type of chart which organizes information into overlapping circles.
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Carroll diagrams:
This is a type of chart which sorts information into boxes.
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Amit has a brother but no sister.
Matt has no brother and no sister.
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Practise questions of the type:
Which children do not have a sister?

Which children have a brother and a sister?




